The Influence Of Ta'lim Al-Muta'alim Learning In Improving The Manner Students Class III Regular at TMI Al-Amien Prenduan School Year 2022

Abdul Hadi¹, Napisah² Raden Fatah Palembang University¹ Corresponding email:abdulhadi.or@gmail.com

ARTICLE INFO

Article History

 Submission
 : 21-02-2025

 Received
 : 26-02-2025

 Revised
 : 06-03-2025

 Accepted
 : 06-03-2025

Keywords Ta'lim Al-Muta'alim Polite Manners

ABSTRACT

Ta'lim Al-Muta'lim book is one of the classic books, which until now is still the main reference for many seekers of knowledge in good and correct procedures or etiquette for learning and teaching according to the teachings of the Islamic religion.Manners is one of the sections that include the discussion of morals, that is, all outward or visible behaviors, moral norms, and our daily social procedures in society or fellow human beings.

This research is an attempt to find out the influence of learning the Book of Ta'lim Al-Muta'alim in improving the manners of class III Regular A students at TMI Al-Amien Prenduan 2022. The objectives of this study are: (1) To find out the effect of studying the book of Ta'lim Al-Muta'allim on the behavior of students class III Regular A. (2) To know how much influence learning the book of Ta'lim Al-Muta'allim can improve the manners of students class III Regular A.

This research is a type of non-experimental research that is part of quantitative research, the authors use correlative research which in this case is used to see the relationship of a variable with other variables.

After the researcher assessed the questionnaire, then added it using the product moment formula. Researchers can conclude that there is the influence of studying the book of Ta'lim Al-Muta'allim on the behavior of students in class III Regular A which is worth 0.555 so, the level of correlation is rather low

Introduction

There are manners is one of the sections that include the discussion of morals, that is, all outward or visible behaviors, moral norms, and our daily social procedures in society or fellow human beings, therefore the existence of good manners is very important for us seekers of knowledge, to gain useful knowledge, and obtain blessings from that knowledge. Ta'lim Al-Muta'lim book is one of the classic books, which until now is still the main reference for many seekers of knowledge in good and correct procedures or etiquette for learning and teaching according to the teachings of the Islamic religion.

Ethics or morals as a source of active and dynamic inner mobilizers, cannot and should not be separated from etiquette, as a radiance that comes from these resources, because as we know the driving force in the soul cannot be called ethics, if it is not able to cause movements in the practice of outward deeds.

Similarly, all the movements and behaviors of outward deeds will have no value if they do not arise from the impulse of the crusting power found in the soul.

Learning is one of the ways for us to know everything, and to get a good and correct understanding, we must use the right way or method as well, therefore one way is to learn the Ta'lim Al-Muta'lim book by Sheikh Az-Zarnuji which contains good and correct learning and teaching procedures.

In education, we do not rely solely on values, but what is much more important and what must come first is the learning procedure itself, because if the learning system is good and correct then we can maximize the purpose of education itself. Overall, Al-Zarnuji's book contains learning methods so that a claimant of knowledge succeeds in achieving the benefit of knowledge.

Then the objectives of the research carried out are: 1. To know is there influence of studying the book of Ta'lim Al-Muta'allim on the manner of students class III Regular A. 2. To know how big influence learning the book of Ta'lim Al-Muta'allim can improve the manners of student class III Regular A.

This research focuses on the influence of the learning the book ta'lim al-muta'allim on the behavior of students and the methods of studying well and correctly according to the teachings that have been Islamic law by the Islam because if we do not use the method of studying is good and correct then we will not get the maximums result from learning.

They are two main types of hypothesis: 1.Work Hypothesis (Ha): a.There is the influence of Ta'lim Al-Muta'alim learning in improving the manner students.b.There is evidence that learning the book of ta'lim al-muta'allim can improve the manners of students.

2.Null Hypothesis (Ho): a.There is no influence of Ta'lim Al-Muta'alim learning in improving the manner students.b.There is no evidence of learning the book of ta'lim al-muta'allim can improve the manners of students.

Method

As for the methodology in the discussion of this study, researchers use a type of quantitative research approach with a correlation method of relationship studies. According to Dr. Muthadi Abd Mun'im, the quantitative approach is data expressed in the form of numbers in the form of nominal, ordinal, and interval.

With a correlative type of non-Experimental research that is, to see the relationship of one variable to another variable. The existence of a correlation between two or more variables does not mean to prove or indicate the existence of a cause-and-effect influence of one variable on another.

And the population in this study is all students class III Regular at TMI Al-Amien Prenduan 2022. The instruments needed in this study are in the form of questionnaire sheets. to find out, the influence of learning the book of ta'lim al-muta'allim in improving the manners of students of class III Regular A at TMI Al-Amien Prenduan 2022. which has been tested for validity and reliability first.

The data collection technique in this study is that researchers collect information that has been obtained from questionnaire data that has been previously distributed, to get effective and efficient results in the research process. Then the data analysis that will be used is the Product Moment correlation analysis technique.

Results and Discussion

So, according to the table, conservative measures include what is mentioned above, so it is known that in this study it has a rather low correlation. Thus, researchers can conclude that there is an influence of Ta'lim Al-Muta'alim learning in improving the manner students class III Regular A At TMI Al-Amien Prenduan School Year 2022, but the correlation is rather low.

Tables, Figures and Formulas

NO	X	Y	X.Y	X^2	Y^2
1	12	14	168	144	196
2	13	15	195	169	225
3	13	15	195	169	225
4	9	7	63	81	49
5	14	15	210	196	225
6	15	14	210	225	196
7	13	14	182	169	196
8	15	14	210	225	196
9	15	14	210	225	196
10	12	12	144	144	144
11	10	12	120	100	144
12	15	9	135	225	81
13	10	12	120	100	144
14	9	9	81	81	81
15	10	12	120	100	144

Table 1 Correlation Calculation Results Report

Abdul Hadi et.al The Influence Of Ta'lim Al-Muta'alim Learning In Improving The Manner Students Class III Regular at TMI Al-Amien Prenduan School Year 2022

16	11	13	143	121	169
17	12	8	96	144	64
18	14	14	196	196	196
19	14	13	182	196	169
20	12	13	156	144	169
21	14	14	196	196	196
22	10	11	110	100	121
23	9	11	99	81	121

Because the results of the questionnaire presentation have not proven the correctness of the hypothesis proposed, for this reason, it is necessary to process and analyze the data using the *product moment* correlation formula so that the data obtained is accurate and reliable. The analysis formula is as follows:

Table 2
product moment correlation formula

$$R_{xy} = \frac{N \sum XY - (\sum X)(\sum Y)}{\sqrt{[N \sum X^2 - (\sum X)^2][N \sum Y^2 - (\sum Y)^2]}}$$

Then from the results of the data above, it is formulated into the *Product Moment* formula as follows:

Table 3 The analysis formula

$$R_{xy} = \frac{23.3541 - 281.285}{\sqrt{[23.3531 - 78961][23.3647 - 81225]}}$$

$$R_{xy} = \frac{81443 - 80085}{\sqrt{[2252][2656]}}$$

$$R_{xy} = \frac{1358}{\sqrt{5981312}} = \frac{1358}{2445,672}$$

$$R_{xy} = \mathbf{0}, \mathbf{555}$$

From the results of the data analysis, after being formulated with a table, it turns out that the rxy correlation value obtained from the questionnaire results about the correlation between Ta'lim Muta'allim learning And improving the manners students is **0.555**

Then the final result of the calculation using the *product moment* formula is known, then it is interpreted with the following table:

Table 4

Correlation Interpretation				
Size	Inter-achievement			
0.800 to 1.000	High Correlation			
0.600 to 0.800	Enaugh Correlation			
0.400 to 0.600	Rather Low Correlation			
0.200 to 0.400	Low Correlation			

Abdul Hadi et.al The Influence Of Ta'lim Al-Muta'alim Learning In Improving The Manner Students Class III Regular at TMI Al-Amien Prenduan School Year 2022

0.000 to 0.200	Very low Correlation

the working hypothesis (Hi) states there is the influence of Ta'lim Al-Muta'alim learning in improving the manner student is **accepted**, while the null hypothesis (Ho) states there is evidence that learning the book of Ta'lim Al-Muta'allim can improve the manners of students **is rejected**.

Based on the table above, it can be seen that the work of r with a value between 0.400 to 0.600 includes a rather low correlation thus the research on the influence of Ta'lim Al-Muta'alim learning in improving the manner students worth 0.555 belongs to be **rather lows** category.

Conclusion

The content of the conclusion is the answer to the research objectives, not a summary of the research results. Conclusions and suggestions are made in a concise, clear and concise manner based on the results and discussion.

After going through a very long process and endless struggles, the researcher was finally able to complete this research properly and on time.

From the explanations that have been presented in the previous chapters, the author can finally conclude the research entitled "The Influence of Ta'lim Al-Muta'alim Learning In Improving The Manner Students Class III Regular A At TMI Al-Amien Prenduan School Year 2022", which is the answer to the formulation of the problem from the chapter I, namely:

- 1. There is an influence of Ta'lim Al-Muta'alim learning in improving the manner students class III Regular A At TMI Al-Amien Prenduan School Year 2022.
- 2. The results of data analysis referring to the *product moment* formula showed a correlation after processing and entering it into the inter-achievement table measure obtained a value with a score of 0.555 and this included a **rather low** category score.

References

- Jauhari, Muhammad Idris, Pelajaran adab sopan santun, Mutiara press, Al-amien Prenduan, 2020, Cet.25.
- Hafsah, Umi, '' Etika Dan Adab Menuntut Ilmu Dalam Kitab Ta'lim Muta'allim '', Dalam Jurnal Iain Manado, vol 3, No 1, Tahun 2018.

KBBI Ofline versi 1.5.1.

Dasopang, Muhammad Darwis Dasopang, Belajar Dan Pembelajaran, fitrah Jurnal Kajian Ilmu-ilmu Keislaman Vol. 03 No. 2, tahun 2017.

Al Quran Digital Versi 2.1.

Mudakir, Ali Sabana, Pengaruh Pembelajaran Kitab Ta'lim Al-Muta'alim Terhadap Pembentukan Karakter Dan Prestasi Belajar santri,Dalam Jurnal Ilmiah Al-Jauhari,Vol 2,No 1,Tahun 2017.

- Misbachudin, Ariful, Implementasi Isi Kandungan Kitab Ta'lim Al-Muta'allim Dalam Pembentukan Etika Belajar Santri Pondok Pesantren Al-Asy''ariyyah Kalibeber Wonosobo, Univesitas Islam Indonesia Yogyakarta,2020.
- Mun'im, Muhtadi Abdul, Metode Penelitian untuk pemula, (Al-Amien Prenduan: Mutiara Press, 2021).
- Marlina, Suhartono, Dkk, Pengaruh Pembelajaran Kitab Ta'lim Muta'alim Terhadap Pembentukan Sikap Tawadhu' Siswa MA Nurul Huda, Dalam Jurnal Pendidikan Islam, Vol. 8 No. 2, Tahun 2021.
- El-Syafa, Ahmad Zacky, Faizah Ulfa Choiri, *Kitab Para Pencari Ilmu*, Yogyakarta, Mutiara Media, Tahun 2014

Abdul Hadi et.al The Influence Of Ta'lim Al-Muta'alim Learning In Improving The Manner Students Class III Regular at TMI Al-Amien Prenduan School Year 2022